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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
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students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i) 39 J97-9F &1 Giel 9777, 3, §, G, ¢ 3N T H FieT T B | 9l @4 9T &
o] & IR forad & |

(i) @Yt 397 I F |

(i) YT d, &, 7 3K T & J99] 7 SRk 597 I T 8 |

Gv) YT 37 & Y97 G&IT 1 3K 2 Uh-Uh 3% & Y97 & | 9% FK U o7 HYaT
TH JFTH 78 )

() YT T J9T G 3 G 5 T1-3 3Pl & J7 & | §9% IR TTHT 30 Fea] Jedw
73781

(i) YT & 97 G&IT 6 & 15 A7-T7 371 & T97 & | 575 I T 50 e
JgH 47 8 |

(ii) YT T & Y97 &7 16 G 21 GiT-Tia 37| & Y97 & | 599 I FTYT 70 Jeg]
J9b 527 8 |

(viii) YT T & J97 G&IT 22 G 27 JINIHE HI9T T SR G1-21 37l & J97 & |
579 G S a7 & /

General Instructions :

(1) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.
(iit)  Internal choice is given in Sections B, C, D and E.

(iv)  Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

(v)  Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

(viit) Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A

1. foreft ugred st Sga fagerar s afoamn fafew | 1

Define the term electrical resistivity of a material.

2. Torsll WIas & QI Y@ ©cehi shi T TARY | 1

List two main components of an ecosystem.

o o
SECTION B

3. A A 1 B @ ? AR Ak W SraTen § fagq =eH w9 W e 2 2

What are ionic compounds ? Why do ionic compounds not conduct
electricity in the solid state ?

4.  HER % AN AR el yaW i glg # 31ifees fohe TR 8 Bid @ 2 2
HAAAT
dfeht e fohll hgd & ? Torell e & SRR # 799 ot a| fopeft afremt etmam
1 fowm =1 3g@ e | 2
How do auxins promote the growth of a tendril around a support ?
OR

What is a nerve impulse ? State the direction followed by a nerve impulse
while travelling in the body of an organism.

5. TaTD AT H1 JUI Al =1 a1 B ? 2
Why is the colour of the clear sky blue ?

"
SECTION C

6.  H*(aq) I <l Higdl < foe@q 1 Thid T THE I 3@ HifT | FIT dR
foeramt 4 oft HY(aq) M a2 2afe e &, a1 o 3 ey <= B 8 2 3

State the effect of concentration of H*(aq) ions on the nature of the
solution. Do basic solutions also have H*(aq) ions ? If yes, then why are
these basic ?
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@ g1t P, Q 3R R U, P ! Afshaar Q & 0 g 49T R sl @fshaat P 3Tk Q
gEl | ek 7 | I3 UE ToRATehea gesT fEeh g P, Q 31X R Wl S

Tedt g3 lhaar & s § cFateed foRam S Hehat B | 3
YT

il % 3%k 1 Tm foafau | wqfera TEmfe Tt S TERar 3 aehd

1 3Th IAEH A Tspitd s 6t afsharn i samen i | 3

Out of three metals P, Q and R, P is less reactive than Q and R is more
reactive than P and Q both. Suggest an activity to arrange P, Q and R in
order of their decreasing reactivity.

OR
Name the ore of mercury. With the help of balanced chemical equations,
explain the process of extraction of mercury from its ore.

8.  “forelt TSR % foTu foRelt qwa W1 AT ShETH 3W @ o TRHTY] GeIHH

H g § 3Tk IuYw WA WET A 7 |7 a X (TR TR 13) o
ISR TRt 38 e i gfse i | 3

“Atomic number of an element is considered to be a more appropriate
parameter than its atomic mass for a chemist.” Take the example of the
element X (atomic number 13) to justify this statement.

9. WY B % IR &I hl YA ST | HHE IR | Qa0 IRE0 F=i AEwIh
8 ? 3

List four functions of the human heart. Why is double circulation
necessary in the human body ?

10.  SAFEISH I SIEATT 7@ FHl § RIS o fa@USH o 9 ol ATed hig | 3

Explain the ways in which glucose is broken down in absence or shortage
of oxygen.

11. dIfTht & &9 § yufeass 3R Tqufeass & g o faveTerl aeon i g
EEIE 3

List in tabular form three distinguishing features between cerebrum and
cerebellum.

12. Tfafed i samen Hifv 3
(a)  STfd-3gwed
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e 4 WX o Wi o A1 fohy 7T T H § T T H M &9 a3
iR ofis aret 7et o digi 1 fafir foredi o1 Hehor S | 39 9 g Fy
3R F, dIt T 99 Wi o HUS o Y& 1 SRV Tlgd 3@ T | M i
% Afdih Bvgd g 19+ T | 39 fobw e fohedl @ fovafel (fasped)
AU AT TeX o et shi g oft ST | 3
Explain the following :
(a)  Speciation
(b)  Natural Selection

OR
Mendel, in one of his experiments with pea plants, crossed a variety of
pea plant having round seeds with one having wrinkled seeds. State
Mendel’s observations giving reasons of F; and F9 progeny of this cross.
Also, list any two contrasting characters, other than round seeds of pea
plants that Mendel used in his experiments.

13. SO (9ddd fordl shgd @ 2 AHifehd 3TR@ <hl AT § gredl shifsiw foh
3TeRTy # o o7 arer foret an <l feufa Seeht areafaes feufa =& a1t 2 | 3
STt
%7 H 93 Toreht BT =l I8 gH He had ¢ b 98 FHehegiee gy 4 fifea g 239
T o QI HRON h! Gl TARY | AT 3@ T ITAN Hieh 7 h 9 N h
N & IUR hl AT IV | 3

What is atmospheric refraction ? Explain with the help of a labelled

diagram that the position of a star as seen by us is not its true position.
OR

When do we consider a student sitting in the class to be myopic ? List two

causes of this defect. Explain using a ray diagram how this defect of eye

can be corrected.

14. 3 Q ol didl ht gt S5 T8 19 TRl A & | 319 T e gfse
HINT | T A F91 G0 TG I 81 Hehd & ? 310 W hHl g & fow 3
HROT hHT G FET | 3

Name two energy sources that you would consider to be renewable. Give
justification for your choices. Can these energy sources be pollution free ?
List two reasons in support of your answer.

15. @A & ‘S fafagd o ot Ta@” S=b0 961 S g ? 9 @0 W g
IR I TS | 3
Why are forests considered “biodiversity hot spots” ? Suggest four
approaches towards the conservation of forests.
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SECTION D

16. (a) fofomemum sifufsran fora a2 2 forelt Seeor wfga smen $ifse |
(b)  Toret sfiept i o ot iRt SEH fort I3 =3 <t P AT s T R
(i) B arel Stfufshan s T 3t 3Heh gitwe fafau |
(i) IuIh AGRAT 1 FgfcTa T TR0 3T S Tl 3caTg
&1 a1 fafEe |
(i) 3@ AT & &1 yg@ Yo i g SR | 5
Y
(a) g A3ee & Aumeq (faaem) sAfufshar =1 felia =0 & fau e
Topamenem <hi StfireReuT T |
(b) IR e 1 ATHifehd @ Eiee & JUE Jeauni i gt S8 |
()  JATHHS IR Ica@l hl Wifdsh feedm &1 Ig@ Hd gL 8 At
arffsran w1 Tgfera wamfie T fafen | 5

(a)  What is a double displacement reaction ? Explain with an example.

(b) A small amount of quick lime is added to water in a beaker.
1) Name and define the type of reaction that has taken place.

(i1)  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

(111)  List two main observations of this reaction.
OR

(a) Design an activity to demonstrate the decomposition reaction of
lead nitrate.

(b)  Draw labelled diagram of the experimental set-up. List two main
observations.

(¢)  Write balanced chemical equation for the reaction stating the
physical state of the reactant and the products.

17. (a) T% % fou vomfe affeo et weelisor i |ngHehm
Srtufshamat & i faves hifvg |
(b) Toemem f v § frHt TR w1 9941 @9 o {1 TRy
o | 5

(a)  Distinguish between esterification and saponification reactions
with the help of chemical equation for each.

(b)  Write an activity to show the formation of an ester in a school
laboratory.
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18. (a) S fohd HEd & ? 5Heh Qf TN ohl FAT SHIST |
(b)  UHHIREHE Al 3R TgHhIREh Sfai § S 1 faumd g whr fis

B & ? 5
JHAAT
(a) <ifieh T=f@ T (STD) 1 8Id & 2§ SHATY] AHd 3T g 9" shidd
iR F=fa Wt Al T TA1ET |
(b) Y iy fp wgd & 2 1 e U @t M % ofiF SR S g
EEL 5

(a)  What is reproduction ? List its two types.
(b) How are the modes of reproduction different in unicellular and
multicellular organisms ?

OR
(a) What are Sexually Transmitted Diseases (STD) ? List two viral
and two bacterial STDs.
(b)  What is contraception ? List three reasons for adopting
contraceptive methods.

19. (a) HUAd gUUll g s ufdfersi & 9r tfyeremn 1 gt SR |
(b) Eﬁé5cm§7ﬂﬁﬁ30cmqﬁw3ﬁﬁ3ﬁlﬁwmﬁ20cm®
W a2 | g g T WM ek §94 Al Sfafers iy feafa sk
arss fytfa Hifse | 5

(a)  List four characteristics of the images formed by plane mirrors.

(b) A 5 cm tall object is placed at a distance of 20 cm from a concave
mirror of focal length 30 cm. Use mirror formula to determine the
position and size of the image formed.

20. (a) Ry, Ry 3R Ry Ufaiedi o <fi wfciess (i) Sofishm , Qe (ii) qredshy o
TN & | Teeh Tohol B TieH o god faly o fo =5eie faflaw |
(b) 12 Q % < GdEw Yfaless 3V i forelt st @ wafoa & | Feam
yfy 3R Afgehay gfeiy o afomdft TFieHl gra Ut SRRl o
JTATA qEhictd ShIToTT | 5
3AYAT
(a) THETg P IR FATIEAFIE &THA ‘A’ o IR TEhid & Tohel =TeTeh
% gfeiy MR 3ueh ugrd i dgd Ifekigehdr & s day fofae | 3@
bR IEd fiegehdl &1 S.I. A Scdd i |

(b) b5m o frefl arg & arR * gfag 1009 ® | A W AR A
ITIEIHIE T &% 3 x 107 m? 8, q1 g1g i Tfalrgehar qiEhferd

i | 5
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(a)  Three resistors of resistances R{, Rg and Rg are connected (i) in
series, and (ii) in parallel. Write expressions for the equivalent
resistance of the combination in each case.

(b)  Two identical resistors of 12 Q each are connected to a battery of
3 V. Calculate the ratio of the power consumed by the resulting
combinations with minimum resistance and maximum resistance.

OR

(a)  Write the relation between resistance and electrical resistivity of
the material of a conductor in the shape of a cylinder of length ’
and area of cross-section ‘A’. Hence derive the S.I. unit of electrical
resistivity.

(b)  Resistance of a metal wire of length 5 m is 100 Q. If the area of
cross-section of the wire is 3 x 1077 m?, calculate the resistivity of
the metal.

21. (a) TrHll oM™ Graehi@ &7 § &9 o aread TUd gNETe! HY Fee gl
Iya fohu I aTet st hi feem fgifa & et fm w1 9w o e
fafe |

(b) faegq Hiex =1 AHifeRd 3@ EifaT | 5

(a) Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed in a
uniform magnetic field which is perpendicular to it.

(b)  Draw a labelled diagram of an electric motor.

qr Y
SECTION E

22,  Q SiehU H B Hehe o foeiad W § 3TN 390 T H B hl Bl AR g |
tqfufem 6 Tt STem % A 1 =S % gETd @ Y0 g 2 A W H H
Uierdd I ST g, df 8 arefl rfufsee o Am qen Afifsear 1 tEmafe
TRt ot foafEm | 2

arera

IS BT B Howhe fohted dat foavea (faaier) erfuifsran &1 steem s

ITEdT & | 39 YA hl hid THI 3Teh gl Sdl S dTeft e draantaf fafee | 2
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What is observed after about 1 hour of adding the strips of copper and

aluminium separately to ferrous sulphate solution filled in two beakers ?
Name the reaction if any change in colour is noticed. Also, write chemical

equation for the reaction.

OR

A student wants to study a decomposition reaction by taking ferrous
sulphate crystals. Write two precautions he must observe while

performing the experiment.

23. UIAIEH A & 1 feu MU qurgmf w1 TeRE Hd wHT 39 St fAseed R

3eh! T ST 2
(a) 7Y
(b) A ¥ otz

(c) ToTcHE o W yuma
(@) Tfsam gEgiom HeHe & @y rfufsrn

List the conclusions you will draw while studying the following properties

of ethanoic acid :

(a)  Odour

(b)  Solubility in water

(¢)  Effect on litmus paper

(d)  Reaction with sodium hydrogen carbonate

24. Toreft @ 9 “vaEd H @ # CO, et 77 I g€ Wk fIw IueR
AfEd L T g | T 1 992 o 99ETq 98 eht™ et § St o ad H his
TR TET UTAT | RN <l TG b g FTfed SRt feafEn | 2

A student has set up an apparatus to show that “CO, is released during

respiration”. After about 1 hour he observes no change in the water level
in the delivery tube. Write two possible reasons for the failure of the

experiment.
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25. {9l 1 YU S o o0 oefi o fcteh o1 TRl ST d¥IR i & T A
B ST o I(NTh & 3T gal ol ITINT hid & | 39 gal o A1 fafgy 37T

3g@ T T I ga o 3 =41 39 fope 1d B | 2
St

3 =R gEgrE H 3t wE # g SE S 91eq g9 Ut o foerh @

STEITT ST IR ohid 9T hid & | 2

In the experiment of preparing a temporary mount of a leaf peel to
observe stomata, we use two liquids other than water. Name these two
liquids and state when and why these liquids are used.

OR

List four precautions in proper sequence which we observe while
preparing a temporary mount of a leaf peel.

26.  Torelt qrey forrar o1 Wfdfors STH oteh QU 0 SHerdel g1 <6l Hfeehe ®ishd gl
i T o T i S 61 9 o =won 6 HHaR g IR | 2

AT

forell B @ AU HIv & IR 9w M % o s % AaeR Wie |
TR aTeft JehTeT foRtor b1 uer STfRad et B |

(a) 39 TENT T q Hgwwqul AraEn= ol gl sy |
(b) 38 TN W YTNG B gRT THehlet T ¢ skt hl Ft ST | 2

List in proper sequence the steps of the experiment for determining the
approximate focal length of a given concave mirror by obtaining the
image of a distant object.

OR

A student has to trace the path of a ray of light passing through a
rectangular glass slab for four different values of angle of incidence.

(a)  Write two important precautions for this experiment.

(b) List two conclusions the student will draw based on his
experiment.
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o7, v § awin Mo deadie % MR W AR AR ok Rrefifed S $ I

A
1-5
0 3-0
Vv
(a)  SlceHIX &1 cTdHTh T 8 ?

(b)  SlceHIeX 1 YTSATH o1 & ?

(c) dfe Ig dicediet frel 20 Q & gictiees o &l @ gaifvd 2, df faleeh
T fopat & venfed & Wi g 2 2

Consider the scale of a voltmeter shown in the diagram and answer the
following questions :

1-5

\%

(a) What is the least count of the voltmeter ?
(b)  What is the reading shown by the voltmeter ?

(c) If this voltmeter is connected across a resistor of 20 Q, how much

current is flowing through the resistor ?
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